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(3) Inverses
- two matrices whose product is a unit matrix are called inverses.
- the inverse matrix is denoted A™.
- we will look at the inverses of 2 by 2 matrices.
- otherwise, we can use the TI-83 to get the inverse matrix.
-ifdet A=0,
then there is NO inverse and it is called a singular matrix.

A- A7 =A4"-A4=1
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If A= al then A :d 1
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A determinant is a square array of numbers (written within
a pair of vertical lines) which represents a certain sum of
products. It produces a single number (a scalar quantity).

In general, we find the value of a 2x2 determinant as
follows:

a, b
A:{Xj Det=ad - be
c d
Det A = (product of major diagonal) - (product of other diagonal)
b
Det A = =ad —cb
c d

Example: Determinant

Example: Find the inverse, A'l_. of
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SOLVING LINEAR SYSTEMS: INVERSE MATRIX
METHOD

The matrix form associated with the coefficients, variables and constants of the linear system

Sx+2y=14 . .
b ——
- Ty = 33 \ Must be in this form
can be wrjtten as
<p vl 1
50 2)(x)\_ ( 14) «—— This matrix is called
3 -7 33/ the constant matrix.
=X
Is matrix is
the coefticient matrix, C the variable matrix, V'
Example Solve using the inverse Sx+2y=14
matrix method. 3x -7y =33
Solution Write the system in the form 5 2\(x\ _(14
of a matrix equation. 3 -71M\y) \33
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Solve the matrix equation. Multiply both sides of the martrix equation by C™',

Find the inverse matrix, C™' [ d —b]
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y - -3 Verify the answer in the

original equation,
Thus, from the matrix form x =4, y = -3,



Solving a System Using Identity Matrix

Solve: 7x -2y =13
11x-3y=5
1. Set up Coefficient Matrix matrix formed by coefficients in a

linear system of equations

(3)(3)6)

2. Find inverse of . . .
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3. Multi ly Both Sides of Equations by Inverse
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Homework

- Attempt any 4 from sheet using inverse matrices
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